
Illustrative Mathematics

Curriculum and Student Development Committee
January 4, 2022 



Math Curriculum Timeline



Standardized Assessment Scores



IABs- Grade 6 Ratio & Proportional Reasoning



Pre and Post Illustrative Math (Grade 6)
In the past, when assessing ratios:



Grade 6 Student Examples from Assessment
An Illustrative question assessing ratios:



Pre and Post Illustrative Math Grade 8 
1)Here are some equations.  Which equation goes 
with each figure?

2(x + 3y) = 4x + 2y

2y = x

2(x + 3y) + 2z = 2z + 4x + 2y

x + 3y = 2x + y

2) Each variable represents the weight of one 
shape. Which goes with which?

3) Explain what was done to each equation to 
create the next equation.



Algebra I: CT Model Curriculum -
Creating Equations

1. You and three friends go to the local fair.  You each buy a $3 food ticket and a stamp for unlimited 
rides.  If the total cost for the four of you is $32, how much does the stamp for unlimited rides 
cost?

a. What is the unknown cost in the problem?
b. What is the known cost in the problem?
c. Write an expression showing the cost for one person.
d. Write an expression showing the total cost for everyone.
e. The total cost equals $43.  Write an equation that models this situation.
f. Now we want to solve this equation to find the cost of the stamp.  If you followed the steps 

correctly, your equation should have a pair of parentheses in it. Up until now, we have not 
solved any equations with parentheses.  How are we going to get rid of the parentheses?  
Explain below.

g. Use the distributive property to eliminate the parentheses in the equation.
h. Now solve the equation.  Show your work and circle your answer.



Algebra I: Illustrative Mathematics -
Creating Equations

The drama club is printing t-shirts for its members. The printing company charges 
a certain amount for each shirt plus a setup fee of $40. There are 21 students in 
the drama club.

a. If there are 21 students in the club and the t-shirt order costs a total of $187,
how much does each t-shirt cost? Show your reasoning.

b. The equation 201.50 = f + 6.50(21) represents the cost of printing the shirts at
a second printing company. Find the solution to the equation and state what it
represents in this situation.



Professional 
Growth and 
Collaboration



Next Steps & Needed Supports

Spring 2022 Continued PD at Polson and begin PD at Hand

Summer 2022 Gr.7 PreAlgebra and Gr. 8 Algebra and Gr. 9 Algebra

Fall 2022 Implement in Gr.7 PreAlgebra and Gr. 8 Algebra & 

Gr. 9 Algebra

2022-2023 Continuing professional development



New Profile of the Graduate



Guiding Document: Long-Term Transfer Goals


